Examen de Matematicas 4° de ESO
Noviembre 2009

Resolver las siguientes ecuaciones y sistemas:

Problema 1
log(2x 4+ 3) — 2logx = 2

Solucion:

2 + 3
log( xj >:log100:>100x2—2x—3:0:>
X

x = 0,1834935157
x = —0,1634935157 No Vale

Problema 2
52x—1 + 5l‘+1 _ 1 — O
Solucion:
(5%)2 — t2 _ t = 0,1984250992
5 +5-5 —1—0:>g+5t—1—():> £ = —25. 19842509
t = 0,1984250992 = 5* — = = —1, 004912070
t = —25,19842509 = 5* = No Vale
Problema 3
log(zy®) =8
2
log ) =1
Y
Solucion:
logx+ 2logy= 8 u+ 2v= 8
{ 2logxz— logy= 1 — 2u— wv=1 —
u:logx:2:>.7}:100
v=logy =3 =y = 1000
Problema 4

orz—li 3ytl — 10
2w 3 =6



Solucion:

27 U

?—i- 3.3Y =10 §+ Jv =10
=
2T _ 3Y =3 u— v =6
u=8=2*=—=—12=3
v=2=3Yy = y =0,6309297535
Problema 5
r—2 x-—1 1 z+1
2 7T T 14
Solucion: o5 o5
5x—12213—x=>x2E:> ,oo)
Problema 6
2 _
T+ 4x — 5 >0
T+ 2 -
Solucion:
2?44z -5  (z—1)(z+5) -0
T+ 2 - T+ 2
(—OO, _5) (_57 _2) (_27 1) (L OO)
f(z) — + - +
La solucién es: [—5,—2) U [1, 00)
Problema 7
x+ y <5
2+ y >3
Solucion:
|y
r+y=5= 0|5
510
r |y
2x+y=3= 0 |3
3/210

T+ y = r=—2 B
{2$+ y =3 {y: = (=2,7)




Problema 8

V2r+5—Vr—1=2
Solucion:
(V2r+5°=02+Ve -1 =224+5=4+z—1+4V/x -1
— 22— 1224+20=0= 2=2, y 2 =10
Problema 9

3—Vr—1==x
Solucién:
—Vr—l=z-3=2-1=2>+9-62=—=2" -T2z +10=0=
=2
z =5 No Vale
Problema 10
t+22-2=0
Solucién:
Hacemos z =22 = 22+ 2 -2=0=2=1y 2z = —2.
z=1=2%>= 2 =+1

2z = —2 = 22 No Vale



